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QUESTION 1

To potentially return unused extent pages to the chunk free list, an Informix administrator would execute which storage
optimization operation?

A. Shrink

B. Repack

C. Compress
D. Defragment

Correct Answer: A

QUESTION 2

Which two statements are true?

A. Temporary dbspaces can have different page sizes.

B. Separate temporary dbspaces are required for each buffer pool.

C. DBSPACETEMP dbspaces can be temporary or standard dbspaces.

D. If rootdbs is mirrored then all the temporary spaces must be mirrored.

E. If DBSPACETEMP is not configured then temporary space will never be used.

Correct Answer: AC

QUESTION 3

What is the primary benefit of a Storage Pool?

A. It allows data to be shared across instances.

B. It allows data to be shared across dbspaces.

C. It allows space to automatically be added to dbspaces.

D. It allows space to be reserved for critical database operations.

Correct Answer: C

QUESTION 4

Which HDR configuration parameter provides three synchronization modes to control when transaction commits are
returned to client applications?
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A. DELAY_APPLY
B. HDR_TXN_SCOPE

C. LOG_INDEX_BUILDS

D. FAILOVER_TX_TIMEOUT

Correct Answer: B

QUESTION 5

Given these statements are executed:

set environment use_ dwa 'accelerate on';
SELECT e.emp_name,
SANKD) OVER (PARTITION BY region
ORDER BY total sales desc),
AviG(sales) OVER (PARTITION BY region, year)
FROM employee g, salgs s
YWHERE e emp_id = s.emp_id;

which statement is true?

A. The entire query will be accelerated to Informix Warehouse Accelerator (IWA) including the OLAP operators.

B. The entire query will be executed on Informix database server, and no portion of it will be accelerated by Informix
Warehouse Accelerator (IWA).

C. The underlying SELECT, JOIN, GROUP BY, and PROJECT operation of the query is accelerated to Informix
Warehouse Accelerator (IWA), and OLAP expressions are evaluated by Informix database server.

D. The underlying SELECT, JOIN, GROUP BY, and PROJECT operation of the query will be executed by Informix
database server, and the OLAP expressions are evaluated by Informix Warehouse Accelerator (IWA).

Correct Answer: C
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